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00000000000 ¢ : R >R, (i=1,...,n) 000000000
R™O0ORTOD00O:

: R — R (21,..,2m) = (011, s Zm)y e ooy 0n(T1, ooy Tm))-
ROOR/ZODOOODOOO:

m: R— R/Z, 0 — [0].
00 nezZOOUOOOOOO R/Z00R/Z0000O:

on: R/Z— R/Z, [0] — [nd].
00 p¢eRODODOODOO ROO (R/Z) x (R/Z) D00 0:
¢pq: R — (R/Z) x (R/Z), 0 — ([pf], [g0])-

0000 »>0000000000 (R/Z)x (R/Z)00 RPODO0D0:

or: (R/Z) x (R/Z) — R?,
or([01], [02]) = ((r + cos 2w03) cos 2701, (1 + cos 270s) sin 2761, sin 2765).

ooo0oJ00D0000000CPYODOCPMOOOO:
on : CP" — CP", [zlz...:zn]H[zf:...:zd].
R/Z0O St ={(z,y) eR?} 22 +¢y*=1}000000000:
0: R/Z — S, [0] — (cos 270, sin 270).

CP'O S?={(z,y,2) eR*| 2?2 +¢y*+22=1}000000000:

_ _ 2 (.12
o: CP'— 8% [:u] (2(zw+zw) 2(zw — zw) |z]* — |w] )

212 + w]? 7 122 + wl? 7 2] + [w]?

(R/Z)x (R/Z)D000000000000D0:

¢: (R/Z) x (R/Z) — (R/Z) x (R/Z), ([61],[02]) — ([ab1 + bO2], [cOr + dbs]).

oo0,abecdeZad—-bc=10000.
cpPlOO0OOOOOOODOODOO:
¢: CP' — CP*, [z :w] — [az + bw : cz + dw).

000, abe,deCOad—be=10000.



2 OJOoOooo
1. 00 82 = {(21,...,2,41) €C*H| Mz 2 =1} 00 CPPODODODO:
n: §H . Cpm, (21 oy 2mgn) = 210t 2.
2. (R/Z) x (R/Z)00 R/Z0O0D00:
p: (R/Z) x (R/Z) — R/Z, ([61], [02]) — [0 + 02].
3.8 %500 $0000:

w83 x 8% — 83 (21, 22), (w1, w32)) — (z1w1 — Zawa, 20wy + Z1w3).



